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MARAIN N,

nr3gaied vty (Sampling with replacement)

umsdussdwitoesifiimizesosishiu 1hiuffousnsmizosegrd Tonm
(probability) Tumsgnefuviniu = 1N ille N uvumvessznng myisolunsailid
Wnoufiunediflundososaslumyquiaetrmmiddvineldmunveuidnmuonuss
uvuedunuedlaeglusn [01] SumnBoudoviumamminstirsey Cummaton
Probability) (B UM uRIet Mt I IRBINY ‘ﬂ«funuum:duﬁ'miwuwlrl
Auneozaqlldned
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3. afndusvuailnsuonussmuustuaredaiisieg e [01]
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wiwden | sz | snuiwafiuezey | snnnibesiiuesoy
1 0.10 0.10 0.01 - 0.10
2 0.10 0.20 0.11 - 0.20
3 0.10 0.30 0.21 - 0.30
4 0.10 0.40 0.31 - 0.40
5 0.10 0.50 0.41 - 0.50
6 0.10 0.60 0.51 - 0.60
7 0.10 0.70 0.61 - 0.70
8 0.10 0.80 0.71 - 0.80
9 0.10 0.90 081 - 0.9
10 0.10 1.00 0.91 - 1.00

- . | 3 ) v
oruyAnvduiail 1 =020 wiwdl 2 ssgaifenuufiudaedn
quil 2 df1=041 w3l 5 szgnifenyidiudaecn

[} 13 1] - 1 ] 3 : ’aw 1
szt 1A hudormisemodeid Tenagniiensnndy 1 a5% mtﬁuuqnumvm

fudaft 3 @d1=08s mizeil 9 sxgnifenuuiludecns
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MANAIN %,

FsilwyduRus (Degree of Multicollinearity)

fuilwyduiuifenrdaven i niwiwulsdrssdanuduiuitumnniedon
s la

Montgomery(1982) Nt det(R)"? ssiuimidadimagoufodnelumydysnm
idossminyduiudssn il Toefl R fowndndanuduiud lumeitends
ﬂ'ﬁmmmﬁumﬁuu'ﬁnwﬂszmmfhﬂ’uﬂszﬁnfwn TunadifiFusBassfanydusudiy
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dossluiwyduiugin uith det(r)”? e lfoqud  womehdaunlBasinyduiud
fivann




MANUIN N,

Tsunsuif 19 lums3se

PRSNGSR NBIRRERSHSERRIRDERRRBRRERNRI RIS

PREEREIRRRIN MN PROGRAM SRR

SEEPRERNRRNESNEDESRNNRPRRERRRERRNRRBRNEY

DOUBLE PRECISION AXXXXD,Y1,Y,YRESEBYHAT
COMMON /SEED/IX/SELECT/KK/REBGRS/A(S,5) X3 (5,5 /RINIT/ALP, ALP1

[ 3

/DATAXY/X(S,150)X1(5,150)XD(5,150) XY (5)
/VARIAB/N,M, M2 M3/PROB/PP(150)
/SDRID/TMEAN(20)CONS/MSE,MSE1
/COEFF/BS(S),B(5),BRID(5),BRID1(5)
/BIAS/SDRBR(S)/STAT/Z.ZI/BOT/YHAT(150)
/BETA/BHKB(5),BLW(S),BTZE(S)

DIMENSION BXX(11),XP(5,150),XPT(5,150),WHKB(5), WLW(5),WOLS(5),

WBHKB(5),WBLW(5), THKB(5),TLW(5),POP(S),POP1(5),
NBHKB(5),NBLW(5),NOLS(S),NHKB(5),NLW(5), MHKB(5),MHKB1(S),
MLW(5),MLW1(5),ALW(5),AOLS(5),ABLW(S),ABHKE(5), AHKB(5),
LOW(5),UP(S),UPR(S),LOWR(S),UPB(S) LOWB(5),SDHKB(5),SDLW(5),
XXV(5,5),WAHKB(S),NALW(5), WVAOLS(5), N ABHKE(5), WABLW(S),
UP(5),LOW(5),LOWR(S),UPR(S),Y 1(150),Y(150),YRES(1 50)

REAL. LOWBMSEMSE]LOWRLOW

N=50
M=3
NB=200
MRw=500

ALP1=SQRT(ALP)

M2=M+1
M3i=M+2
IX=073253
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SERVRINERISINSBINNNS QN EITIITINITIYT LT 1

Zm-1.96
Z1=1.96

Zn.2.056

Z1=2.056

Ze-2.201

Z1w2.201

REBEERRRSRERIBEERE m ..-.......-.‘.‘....‘
Zn-1.645

Z1=1.645

Z=-1.706

Z1=1.706

Zu-1.796

Z1m1.796

BPERERERSSIPRTPNERANN S m 2P0 RBB RS ERORERERE
Zn-2.576

Z1#2.576

Zn-2.779

Z1=2.779

Z=:3.106

Z1=3.106

DO 10 Is1,N

PP(D=FLOAT(NFLOAT(N)

CONTINUE

DO 123 KDs1,MR

CALL INII(YL.Y)

DO 1 l=l M2

MHKE(I)=0

MHKB1(1)=0

DO 1 Jm1M2

XXVI=AT)

CALL OLSEXXV.Y)

CALL INTER(LOWUP)

DO 130 Iw2,M2

IF (BS(I).GE.LOW(1).AND.BS(I).LE.UP(l)} THEN




70

50

NOLS(I)=NOLS(Ty+1
END IF
WOLS(D=WOLS(DHUPQ)-LOW(D))

sassnnsnssesnantenedd Al CULATE CHKB SRS RRIBBRREPSRARE

BB=0.0
DO 30 I=1M2

BB=BB+B(1)*B(I)

CONTINUB

CHKB=(M2*MSEYBB

C=CHKB

IF(CHKB.GT.1.0) THEN

NOH=NOH+1

END ¥

CALL RID(C,Y)

CALL INTERI(LOWR,UPR)

DO 202 I=2,M2
IR(BS(N).GE LOWR(I) AND.BS(I).LE.UPR(T)) THEN
NHKB(I)=NHKB(I)}+1

END IF

WHEKB(=WHKB(D+UPR(D-LOWR())
CONTINUE

DO 70 I=1,M2

BHKB(I)=BRIIXI)

SDHKB(D)=SDRBR(I)

SERPERRIBBRRRRIRASENE CLYY SESIRBNFNFRERERNNNRNE
DO 440 =1,M2

BXX(T)=0.0

DO 440 J=1,M2

BXX(I=BXX(D+B()*XX(R.T)

CONTINUB

BXXB=0.0

DO 50 I=}M2

BXXB=BXXB-+BIXX(T)*B(I)

CONTINUB
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201

CLW=(M2*MSEVEXXB

CeCLW

IR(CLW.GT.1.00) THEN

NOL=NOL+1

END IF

CALL RID(C)

CALL INTER1(LOWR,UPR)

DO 201 Is2M2
IF(BS(D).GE.LOWR(I).AND.BS(I) LE.UFR(I)) THEN
NLW()=NLW()+1

END IF
WLW(D=WLW(IHUPR(D-LOWR())
CONTINUE

R eBsnssneeensns QOOTSTRAP EXSRRBEERNRVERIRNISINS

S3SRBSIERISOSNNERNIE LK BOSSRERNBURSRSNANERRSSSSREINER
DO 308 I=i M2

BRID)(T)=BHKB()

CALL YRESID{YRES,Y1)

DO 9002 IB=1 NB

CALL LOOP(YRES,Y)

CHKB=0.0

CALL OLS(XXV,Y)

BB=0.0

DO 29 Iwl M2

BB=BB+B()*B(D)
CHKB=(M2*MSEB)YBB

C=CHEKB

CALL RIDXC.Y)

DO 88 I=1 M2
THKB(T)=(BRID(1)-BHKB()VSDRER(T)
IF (THKB(T).LE.Z) THEN
MHEKB(I)»MHKB(I)+1

END IF

IF (THKB()LEZ1) THEN
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88

MHKB1({=MHKBI{)+1
END IF
CONTINUE

9002 CONTINUE

89

DO 89 =i M2
SDRBER(I)=0,0

SDRBR(D=SDHKB(I)
POP(=FLOAT(MHKB(N)YFLOAT(NB)
POP1(IWFLOAT(MHKB1(I)VFLOAT(NB)
CONTINUE

CALL BOOTIN(POP POP1 LOWB,UPB)

DO 202 I=2,M2
IF(BS(I).GE.LOWB(I).AND.BS(I) LE.UPB(I)) THEN
NBHKB(I)=NBHKB(I)+1

END IF

WBHKB(D»WBHKB(1)+ UPB(I)-LOWE(I))
CONTINUE

FRRRBVERRERNLEN PR T OF SRR PSERRRRNERESERRERSRRRNES

DO 408 =l M2

'BRIDI(I)=BLW(I)

CALL YRESID(YRES, Y1)
DO 9003 IB=1,NB

CALL LOOP(YRES,Y)
CLW=0.0

CALL OLS(XXV.Y)

DO 1440 Iel M2
BXX(I»0.0

DO 1440 J=1M2
BXOXK(I=BXX(MH+BU)*XX(LT)

1440 CONTINUE

BXXB=0.0
DO 750 1s1,M2
BXX BB+ BXX(T)*II)

750 CONTINUE

CLW=(M2*MSE)/BXB
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C=CLW
CALL RID(C,Y)
DO 888 Isi M2
TLW(Dm=(BRID(T)-BLW(T)¥SDRER(T)
IF (TLW(I).LE.Z) THEN
MLW(D=MLW(I)+1
END IF
IF (TLW(I)LE.Z1) THEN
MLW I(D=MLW1(T)+1
END IF

888 CONTINUE

9003 CONTINUE
DO 789 I=1.M2
SDRBR(I=0.0
SDRER(=SDLW(I)
POP(D=FLOAT(MLW(MD)FLOAT(NB)
POP1(DeFLOATYMLW L(DWFLOAT(NB)

789 CONTINUB
CALL BOOTIN(POP POP1,LOWB,UPB)
DO 1202 I=2M2
IF(BS(T).GE.LOWB(I).AND.BS(I).LE.UPB(D)) THEN
NBLW(D=NBLW(T)+1
END IF
WELW(D=WEBLW(IDHUPB(I)-LOWB(D))

1202 CONTINUE

123 CONTINUE
WRITE(6,*Y'CONFIDENCE INTERVAL= 95% AND MULTICOLLINEARITY 0.9
WRITE(6,*) NORMAL DISTRIBUTION'
WRITE(6,1753) M,N MR

1753 FORMAT(5X,' M= "12,' N= ‘I3, LOOP «'.I3)
WRITE(G,*) '##9953053388 QLY sesssssnssssssses
DO 3509 I=2,M2
AOCLS(=NOLS(IVMR
WRITE(6,1875) I,NOLSQ)

1875 FORMAT(SX,'NOLS(.12,9',13)
WAOLS(Iy=WOLS(IVMR
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WRITE(6,704) L, WAOLS(I)
704 FORMAT(SX,/WOLS( 12 ¥25.4)
509 CONTINUE
WRITE(G,*) 's*¢esesnssss CHKR Sesssssssssssrsns
WRITE(6,7498) NOH
7498 FORMAT(10X,CHKE OVER ='I3)
DO 570 Is2,M2
AHKB(l)=NHKB(IYMR
WRITE(6,8075) I.NHKE(I)
8075 FORMAT(SX,/NHKB(,12,7,13)
WAHKB(=WHEB(IVMR
WRITE(6,104) I, WAHKE(I)
104 FORMAT(5X, WAHKB(,12, F25.4)
570 CONTINUE
WRITE(G,*) 'sessesssssss (] Ss0asbssbtessstss
WRITE(6,798) NOL
798 FORMAT(10X/'CLW OVER =.I3)
DO 1550 I=2,M2
ALW(DeNLW(I/MR
WRITE(6,8075) 1,ALW(I)
8075 FORMAT(SX,'ALW(’J2,).13)
WALWD=WLW (/MR
WRITE(6,204) LWALW(D)
204 FORMAT(SX /'WALWC,I2) F25.4)
1550 CONTINUE
WRITE(3,?) '*eosssnsisss BOOTSTRAP CHKB *ssssssssstnssns
DO $50 I=2,M2
ABHKB(I=NBHKB(IYMR
WRITE(6,875) 1, ABHKB(I)
875 FORMAT(SX,ABHKB(,12,)'13)
WABHKB(I)=»WBHKB(I)/MR
WRITE(6,2104) I, WABHKB()
2104 FORMAT(5X, WABHKB(,12,') F25.4)
$50 CONTINUB
WRITE(3,*) m-nﬁnnu BOOTSTRAP CLW T005008088s0ssnss’
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100

DO 500 Is2M2
ABLW(D=NBLW(I)/MR
WRITE(6,85) LABLW(I)
FORMAT(SX,ABLW( 12, 13)
WABHRB(I=WBLW (I)/MR
WRITE(6,214) LWABLW(I)
FORMAT(5X,WABLW(,12,),F25.4)
CONTINUE

STOP

END

BESRSNES SRR DR RS LR RS SR RS RS RSR AR PR RUID B R

sstarersessrs SUBROUTINE INIT Ssessnessess
PESESREPRSSARES R RN SN ESIRR RSN REB RSB R ERDROD

SUBROUTINE INIT(Y1,Y)

REAL DNORM ?

DOUBLE PRECISION X.XA,AXXX1XD,Y1,Y

COMMON /COEFE/BS(5),B(5),BRID(5),BRID1(SYINTERV/XBAR1(11),5G(11)

. /VARIAB/N,M M2, M3/RINIT/ALP, ALP1/DATAXY/X(S,150),
. X1(5,150),XD(5,150),XY(S)
. SELECT/KK/TYY/YY/REGRS/A(S,5),XX(S S¥SDRID/TMEAN(20)

DIMENSION  XA(10,150),XP(5,150),XPT(5,150),SUM(6),XTX(S,5),Y 1(150),Y(150)
DO 1 I=2,M3

XBAR1(T=0.0

SG(D=1.0

CONTINUE

DO 100 I=2,M3

DMEAN=XBARI(I)

SIGMA=SG(T)

DO 100 J=i,N
XA(1,J)=DNORM(DMEAN SIGMA)
CONTINUE

DO 101 Ie23

DO 101 JwIN

XA D=(SQRT(1-ALPY*XA(L )M ALP1*XA(M3,7))
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101 CONTINUE
DO 22 Jul N
X(M2 J)mXA(M2,])
X(1,7)=1.0

22 CONTINUB
CALL DATA(Y1,Y)
DO 88 Iw2M3
DO 88 J=1,N

88 XP(1JmX(T)
DO 847 I=2,M3
SUM(I)=0.0
DO 847 J=l,N

847 SUM(D=SUMINXP())
DO 845 I=2,M3
TMEAN(D=SUM(T)/N

845 CONTINUB
DO 12 I=2M2
DO 12 J=IN
XIX(1,T)=XP(L})-TMBAN()

12 CONTINUE
DO 5547 J=1 N
XD(1,7)=1.00

5547 CONTINUE
.l.‘.l..;..‘l...‘. mm x'x SO0 ERENESERS
DO 122 Is1,M2
DO 122 Kl M2
STK=0.0
DO 129 J=1,N

129 SIK=SIK+XD(IJ)*XD(K,J)
XX(IK)=SIK
XX (K )mSTK
XTX(,K)=SIK

122 XTX(K.)=SIK
(2122 1L I T T 1) Eq Y] INVERSE MA'TRIX OF x’x SRS BNELSENNR
DO 140 I=1,M2
DO 140 Jm1 M2
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0 0 0 0

AQN=XX(LT)
AQ,D=XX (1))
140 CONTINUE
DO 145 K=1,M2
IR (ACK.KD) 145,146,145
146 WRITE(S,150)
150 FORMATCA(K.K) HAS ZERO ON DIAGONAL’)
sToP

' 145 CONTINUB

CALL INVS(M2,A)
RETURN
BND

(I TR LR LIt 22 L Pyt Ed 1 bR e a1t el et it idlledd]lzdy)

ssvesssssnses SUURROUTINE DATA °**snssssesssonssss
BOSPRSERRERRRAESRBFIRESRRELRRD RSN EZRDS RS ORNIRSEN IS ERN
SUBROUTINE DATA(Y1,Y)
DOUELE PRECISION X,Y EXD,Y}
COMMON /SELECT/KK/INTERV/XBAR1(11),SG(11)
» /COEFRF/BS(S),B(5),BRID(5),BRID1(5)/SEED/IX
. /DATAXY/X(S,150) X 1(5,150),XD(5,150),XY(5)
. fVARIAB/N .M M2M3
DIMENSION  B(150),ENOR(150),Y1(150),Y(150)
DMEAN=0.0
VARIAN=2.0
SIGMA=SQRT(VARIAN)
NDF=2 ,
ssessssessses ERROR'S DISTRIBUTION IS NORMAL ***#sesssssss
DO 10 J=1 N |
B{J)=DNORM(DMEAN,SIGMA)
10 CONTINUE
sansrssrsenrins QRROR'S Dlmtmon IS LOGNORMAL, *#52230800
DO 18 Jal N
ENOR(J)»DNORM(DMEAN,SIGMA)
B()=EXP(ENOR())
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CONTINUE

ssesssssssss ERROR'S DISTRIBUTION IS STUDENT T *sseses

DO 26 =l N
E()TDIS(NDF DMBAN,SIGMA)
CONTINUE

DO 30 J=]1 N

SUM=0.0

BS(1)=7

BS(2)=8

BS(3)=

BS(4)=10

DO 20 I=1 M2
SUM=SUM+X(1.J)*BS(I)
CONTINURB
X(M3,)=SUM+E)
CONTINUE

DO 40 J=1 N
YOXM3.)
Y1()=Y(D)

CONTINUR

RETURN

END

BRFSSEVPIBESTERGSREDIGRERIRNSAEDBTINNSHN RS LS

sesssnnes INVERSE MATRIX = seeseseysesen
PEPSRARERRNRENRIRPERIBRRNORRRERSERIRRER RSB ADE
SUBROUTINE INVS(M2,A)

DOUBLE PRECISION A

DIMENSION A(S.5)

DO 20 Kel M2

AKK)=-1.0/A(K,K)

DO 5 I=1 M2

IF(-K)353

A(LK)=-A(1K)*A(K K)

CONTINUE



10

18

10

DO 10 leiM2
DO 10 J=iM2

IF ((I-K)*(J-K)) 9,10.9
ALT=ALN-AQK)*AKT)
CONTINUE

DO 20 Jo1 M2

IF (J-K) 18,20,18

AK D)=-A(K I AKK)
CONTINUB

DO 25 I=1M2

DO 25 Je=1 M2

AT m=-ACLT)

CONTINUE

RETURN

END

PRI PRERERBRERSRA RO SRR RSRRIDARARERAERBEFERED

ssssese9s RUNCTION NORMAL DISTRIBUTION ®s¢*

SESEERRERPPRISESEIRIPIRSERRRRERABARERRERRRNNIRSNS

FUNCTION DNORM(DMEAN,SIGMA)
COMMON /SEED/IX/SELECT/KK

Pl=3.1415926

IF (KK.BQ.1) GOTO 10

CALL RAND(DXIY,YFL)

RONE=YFL

CALL RAND(IX,IY,YFL)

RTWOs=YFL
ZONE=SQRT(-2*ALOG(RONE))*COS(2*PI*RTWO)
ZTWOwSQRT(-2* ALOG(RONE))*SIN(2*PI*RTWO)
DNORM=ZONE*SIGMA+DMEAN
KKn1
RETURN
DNORM=ZTWO*SIGMA+DMEAN
KKwd
RETURN
END

m
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SRS A LN AR AR ERRERRRS S UG RENRNS RIS NSRS RS

*sses20% FUNCTION STUDENT T DISTRIBUTION **+»+

baaad 2l Lt f L LT IR I T Y I I T T TT T

FUNCTION TDIS(NDF,DMEAN,SIGMA)

SQNOR=0.0

DO 10 I=1,NDF
SQNOR=SQNOR+DNORM(DMEAN SIGMA)**2)

CONTINUE

CHISQuSQRT(SQNORFLOAT(NDF))

TDIS=DNORM(DMEAN,SIGMAWCHISQ

RETURN

END

BESRSAENANIBNEIO RSSO RNGRREDNSISREDEDOREISEODER RN

sessssnsss SUBROUTINE RANDOM **%sessassasse
CAGHSRSNNERRNSRB RIS S BB ISLIS VBRSNS I BED ISR
SUBROUTINE RAND(IX,IY,YFL)

IY~IX*16807

IF (IYLLT.0) IY=IY42147483647+1

YFL=IY

YFL=YFL*0.465661E-9

X=1Y

RETURN

END

bt a b e Lo S 2 L2 T2 DT T T LT UTY TE YT Yy

ssessssess SUBROUTINE OLS seesesssssss
LAl LIl 2 T TTTT YTy T YT YT T )
SUBROUTINB OLS(XXV,Y)

DOUELE PRECISION A,$,X1X.XD,Y

COMMON /REGRS/A(S,5),XX(S, SYVARIAB/N, M, M2 M3

. POATAXYX(5,150),X1(5,150),XD(5,150).XY(5)
» JCOBFF/BS(5),B(5),BRID(S), BRID1(SVCONS/MSE MSE1
. /SDRID/TMEAN(20)

DIMENSION  XXV($,5),Y(150),XB(150), YXB(150)



147

413
412

915

REAL MSE
DO 22 I=1,M2

SUM=0.0

DO 25 J =1,N
SUM=SUM+XD(1)*Y(J)
CONTINUB

XY(=SUM

CONTINUE

DO 30 Isl,M2

SUM=0.0

DO 40 J=1M2
SUMeSUM+XXV(I,D*XY ()
CONTINUB

B(D=SUM

CONTINUE

SUM=0.0

DO 147 [=2,M2

SUM=SUMHB(I)*TMEAN(I))

B(1)«TMBEAN(M3)-SUM
DO 412 J=1N

XB(I)=0.0

DO 413 I=1,M2
XB(N=XBI)H+XIXL))*B(I)
CONTINUE

CONTINUE

DO 563 J=1N
YXB()=Y(J)-XB(J)
CONTINUE

SSRe0.0

DO 915 Ju=IN
SSE=SSE+(YXB(J)*YXB()))
MSE=SSEAN-M-1)
RETURN

END
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SUBFERRNAREINAFUPERRVAIERISHABRERANNSRINRS D

ssesse® SUBROUTINE INTER (LTI T
SHLINNEIIIANEIRANENEAEIINNNEIIHNINEISRREN
SUBROUTINE INTER(LOW,UF)

DOUELE FRECISICN A

COMMON /VARIAB/N,M,M2,M3/CONS/MSE,MSEIl

* /DATAXY/X(S,150).X 1(5,150),XIX5,150),X Y(5)
. 7 COEFF/BS(5),B(5),BRID(5), BRID1(SVSTAT/Z Z1
» REGRSIA(S,5),.XX(3.5)

DIMENSION  SDB(5),VARB(S),C(5,5).LOW(5),UP(5)
RHEAL LOW MSEB

DO 30 l=l M2

DO 30 J=1M2

IF(1J) 30,2530
CAmAQT)
VARB(I)=C(1,7)*MSE
SDB(Nm=SQRT(VARB())
UP(y=B(I)+(Z1*SDB())
LOW(M=B(D)-(Z1*SDB())
CONTINUE

RETURN

END

FRASASPPRRRBLN LS LIS RN NSRS ARS L LS ISR RAIN S

sesensrnsrr  SUBROUTINE RIDGE = ***+essssssans
FOEEERIREINIINRNENEISRIIEIEINISIEIEIRRTISINS
SUEROUTINE RIIXC.Y)

DOUBLE PRECISION X ARX1XXXD,Y

COMMON RBGRS/A(S,S)XX(S,SYVARIAB/N M. M2,M3

» /OONS/MSB MSE1/BIAS/SDRBR(S)/COEFF/BS(S),B(5),BRID(5).BRID1(5)
. /DATAXY/X(5,150),X1(5,150),XIX5,150),XY (SVSDRID/TMEAN(20)
DIMENSION  R(5,5).XXK(5,150),XXK1(5,150), VARBR(5),V(5.5). XB1(150)

» -YXBI1(150),Y(150)
REAL MSE]

DO 10 I=1,M2

DO 10 J=i M2
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20

10

50

442

413
412

915

R(1,J)=0.0

IF (IJ) 20,3020
R(I,Ty=XX(1))

‘GOTO 10

RAD=XX(LIHC
CONTINUE

DO 40 I=1 M2

DO 40 J=1 M2
AQTmR(LD

CONTINUE

CALL INVS(M2,A)

DO 950 I=1 M2
BRID(T)w0.0

SUM=0.0

DO 50 J=1 M2 .
SUM_—SUM+A(IJ)'XY(J)
CONTINUE

BRID([y»SUM

CONTINUE

SUM=0.0

DO 442 I=2 M2
SUM=SUM-+(BRID(I)*TMEAN(I))
BRID(1)=0.0
BRID(1)»TMEAN(M3)-SUM
DO 412 J=1 N

XB1(N=0.0

DO 413 I=1 M2
XBI(Jy=XB1()H#+XD(1,Jy*BRIDT)
CONTINUE

CONTINUB

DO 563 =1l N
YXBI()=Y())-XBI(J)
CONTINUE

SSE1=0.0

DO 915 )=1.N
SSE1I=SSE1+(YXBI(N*YXB1()))
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102

101

72

71

MSE1=SSEIAN-M-1)
DO 70 I=1 M2

DO 70 Kwi M2
SDRER(I=0.0

SUK=0.0

DO 99 J=1M2
SUK=SUK+A(LT)*XX(K.J)
XXKI(LKySUK

DO 101 I=1M2

DO 101 K=1,M2
SAK=0.0

DO 102 J=1,M2
SAK=SAK+XXK1(1,J)*A(K.J)
XXK(1,K)=SAK
CONTINUE

DO 71 I=1 M2

DO 71 J=l M2

IF Q1) 71,7271

V(I 1)=XXK(LT)
VARBR(I=V(1.})*MSE1
SDRBR(D=SQRT(VARBR(I))
CONTINUE

RETURN

END

SESRNRREBRASSSENBRARERBEDRCHUERBNDIPRENINRPNS

ssssesssss INTERVAL RIDGE **sssssssssss

HRPERERERSOSRRRESRERRIN RPN R BN SRR REDB RS

~ SUBROUTINE INTERI(LOWR,UPR)

COMMON /REGRS/A(S,5).XX(5,SYVARIAB/N,M,M2,M3
JCONS/MSE,MSE1/BIAS/SDRBR(SYCOERF/BS(5),5(5).BRID(5),BRID1(5)

BSTATZZVTYYNY

/DATAXY[X(5,150),X1(S,150),XDx(5,150), XY(5)/SDRID/TMEAN(20)

DIMENSION LOWR(5),UPR(S)
REAL LOWR
DO 30 Im]l M2
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10
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UPR(D=BRID(T)}+Z1*SDRER(D)
LOWR(D=BRID(1)-(Z1*SDRBR(I))
CONTINUE

RETURN

END

ARHRSRREREERESNRREBRENERENDRRRRSIRNLRLRINEES

L1 i 2123 1] ] sumo‘mNE YRESID (S 1FE LTIt 2 1)L}
SRFERNSEEINGBRR N RAS RIS VEBUNERSEOERLRRNRR DS

SUBROUTINE YRESID(YRES,YI)

DOUBLE PRECISION YRESX,YHAT,Y1

COMMON /VARIAB/N,M M2, M3/DATAXY/X(5,150),X1(5,5),XD(5,150) X Y(5)
. IBOT(YHAT(HO)K:OEFFIBS(S)-B(S)'BRID(SJ.BRIDI(S)

DIMENSION Y1¢150),YRES(150)

DO 10 J=1,N

SUM=0.0

DO 20 I=1,M2

SUM=SUM+X(LJ)*BRIDI(})

CONTINUB

YHAT()=SUM

YRES()=Y1(3)-YHAT(])

CONTINUE

RETURN

BND

LIS PR T T2l LI I LEL LIl L L]l

s SUBROUTINE LOOP L2050 000000020 N

CARBARPSRGRRDRSRGBER R AN R EDVEDISIDRDIEDPBD D

SUBROUTINE LOOP(YRES,Y)
DOUBLE PRECISION X.XD,Y,Y1EB,YB,YRES,YHAT

COMMON /VARIAB/N,M,M2,M3/DATAXY/X(S,150),X1(5,150),XIX5,150),X Y(5)
. /SDRID/TMEAN(20VREGRS/A(S,5),X3X(5,5/BOT/YHAT(150)

» /PROB/PP(150ySEED/LX/COEFF/BS(S),B(S),ERID(5),BRID1(5)
DIMENSION SUM(S),XP(5,150),Y1(1500),Y(150),EB(150), YRES(150)

DO 30 J=IN

CALL RAND(IX,IY,YFL)




10
12

30

357

DO 10 IT=1,N
IT1=IT-1

IF (IT1.BQ.0) THEN

Al=00

ELSB

Al=PP(IT1)

END IF

A2<FP(IT)

IF ((YFL.GT.A1)AND.(YFLLE.A2)) THEN
BB()=YRES(IT)

GOTO 12

END IF

CONTINUB
X(M3.y=YHATUHEB(J)
Y(N=X(M3.3)

CONTINUE

DO 557 Ksl,N
XP(M3,K)=X(M3,K)
SUM(M3)=0.0

DO 1 J=1,N
SUM(M3)=SUM(M3 )+ XP(M3,J)
TMEAN(M3)=SUM(M3)N
RETURN

END

BRRRRERRESRSIRDASRRERIORENLNIARRREENIRERD

ssssess SURROUTINE INTERVALS *+eses
P

SUBROUTINE BOOTIN(POP FOP1, LOWB,UPB)

COMMON /VARIAB/N.M,M2,M3/DATAXY/X(5,150),X1(5,150),XDX5,150).XY(5)
. /SDRID/TMEAN(20VRBGRS/A(3.5),XX(5,SVDATAY/Y(150)

. /STAT/Z,Z1/BIAS/SDRER(S)/COEFF/BS(5),B(5),BRIDX5),BRID1(5)
DIMENSION POP(5),POPL(5),5(5),PU(5),PL(5),U(5),Y(5)LOWB(S),UPB(5)
REAL LOWB

BRBRERSRRBR NS 0% TesEsRREAES

Pl=0,1031
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0 a0 a0 a0 a

SIG=0.05
SRR PVERRY m EPRNRERIENN S
Pl=0,058

§1G=0.025

PRESRERRIRRSS m PECRISPIRNRY
Pl=0,01446

S1G=0.005

DO 10 I=1 M2

S(N=SDRBR(1)*Z1
PUMwSDRBR(T)*(POPL(I)<(1-SIG)VPI
PL(D=SDRBR(1)*(POP(T)-SIG)/F1
UM=ST)-PUT)

V(D=SIOH+PLT)
UPB(D=BRID1IHV(I)
LOWB(D=BRID1(1)-U(1)

10 CONTINUE
" RETURN

BND
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